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4K 6K 8K Ak
TR 4 0 0 3
THAR2 3 1 0 1
THRAA3 2 0 1 3
T4 1 2 0 3
RS 1 1 1 1
THITR6 0 3 0 1
TEHERT 0 0 2 3
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min=y 1 +y2+y3+y4+yS5+y6+y7;
4%y1+3*y2+2*y3+ya4+y5>=50;
Y2 +2*yia+yS+3*yha=210;
y3+yS5+2*y7>=15;

Qgin (y1l); !#EHArE;

@gin (y2)
@gin (y3)
@gin (y4)
@gin (y5)
@gin (y6)
@gin (y7);
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Global optimal solution found.
Objective value: 25.00000
Extended solver steps: (i]
Total solver iterations: 5

Variable Value Reduced Cost

Y1 5.000000 1.000000
Y2 5.000000 1.000000
Y3 0.000000 1.000000
Y4 0.000000 1.000000
D 15.00000 1.000000
Y& 0.000000 1.000000
Yr 0.000000 1.000000
Row Slack or Surplus  Dual Price
1 25.00000 -1.000000
2 0.000000 0.000000
3 0.000000 0.000000
4 0.000000 0.000000
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